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Null and Alternative Hypotheses:
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©
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Check of Conditions:

Math Box: (standard deviation, test statistic, p-value, margin of error, sketch, etc...)

Mo
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T £ _ 5
©=15
b7 b

Decision and conclusion:
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Math Box: (standard deviation, test statistic, p-value, margin of error;&ketch, etc...)
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Decision and conclusion:
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10.1 Chi-Square Study Guide

1. Read pp. 624 through 630
2. Draw a 4 by, 6 confingency table

3 4 = [

->K ) -

Put a *in cell #7 : ¥
Chi-squared distributions test the rnJewndw.L J) 2 {’aml-ws ”:':35 vk

. T/E] The graph of x2 is symmetrical ' Jrony A fodws  O-F chowne - Expect

¢ w

T/lﬂ As the d.f. increase, the ¢ distribution becomes more skewed right
Where's the mode/high point on a ¥2 distribution? N2
How does one calculate the critical value for y2?

w7 af:7 > % bk /L

9. Which is correct for finding the expected frequency of a cell? Wer 22 67

D= o)

® N

ST
row total * column total * sample total OR row fotal * column total
sample total  samplextotal 1 sample fotal

10.Find E for cell #9 table 10-2
E= (ooxbo) /(Y = 20

11.Symbolize observed frequencies

12. x> measures ___ 0-E _/ dert
13.Use the %2 formula to justify the authors’ claim in guided exercise 3 that y?
=13.31. Show your work. '

;o5 {0 EY
%'l—- E

14.1s that “it"? What else do we do?

15.How does one calculate the d.f.?
o@ T (w1 { lemT - |

16.Find the d.f. for your contingency table in#2 above.
d‘? = (4-1yb1 )= 15,

17.Do 10.1 (9)
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